(SEEH—1|RERHSHE—F

i

S

XTROBIEL, H<ETEHZRALLTDSEBELTTITILNTHS,

Y=l CCADNEELEA— —&EHE
AfE | JbEFE |fEIRES| PET | stim | BE [ U [F—L| mE&E | A | L& MR | JkfE | PP FREE
FIERR [ZE] 187 27 52 22 136 9 0 1 7 69 0 2 16 4 94
F2REBR [ZE] 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FEIFEHRR [ZE] 10 0 0 0 0 0 0 0 0 24 0 0 0 0 0
E:ii
z'_’g R [R#7] 23 8 46 2 25 7 0 1 7 24 0 1 9 4 36
=5 .
= |EXEAMRE [&] 23 8 43 2 0 7 0 1 7 33 0 1 9 4 36
A4S [&] 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0
R [&] 4 3 3 0 0 0 0 0 0 0 0 0 0 0 0
i [&] 8 10 0 4 0 0 0 0 0 0 0 0 0 0 0
A [&] 4 2 2 0 0 0 0 0 0 0 0 0 0 0 0
" KO il 3 0 0 0 0 6 5 0 0 0 3 0 0 0 5
= J—FK diid 3 0 0 0 0 6 5 0 0 0 3 0 0 0 5
& - n
B[RRI [&] 3 0 0 0 0 6 5 0 0 0 3 0 0 0 5
= PR 78— [4Ffr] 241 24 84 63 0 0 0 0 124 73 3 4 31 0 114
WMEZERZ DM x| | X/ KX X KX | K| KX KX X | K| K| HX|—=HKX| =R
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KTROBIEL, &(if%a’%"é%;&iJ:’CO)*%ﬂE&L,’CT‘é’%O)’Cﬁé

wEmiE CCANEREEF— b ¥
AfE | JbfE |7EIR=5| PET | kim | B3 | U\ (=)L mEE | R | L& MR | JkfE | PP | FEEE
BEIEH [&] 2 2 3 3 3
BEENO (4 Ffr] 62 15 61 25 14
BEERE (& Fr] 10 7 21 9 7
BHKA 78— (&) 5 4 19 15 15
EEApc3ES [#Pfr] 0 0 0 1 1
BREEEE [&] 0 0 0 0 0
[SZEH —-SIEERHEEUE—E FEHABALE
KTROBUEIL, H<ETEHRZRAC LETHOSEELLTRTENDTH S,
BEmiE CCADEEREI— —EHmEbE
AfE | JbfE |fEIRER| PET | Stim | B [ U |[FR—L| mE | AfE | L MR | JtfE [ PP FHEE
JEE FEREA [XT] 1,292 252 292 125 803 345 81 22 313 591 105 4 160 24 538
B R 5E [#Fr] | 1,292 252 292 125 803 122 45 8 110 591 105 4 160 24 538
AEREE; [&] 1 0 1 0 1 1 0 0 0 0 0 0 0 1 0
BREEEE [&] 1 0 1 0 1 1 0 0 0 0 0 0 0 1 0
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K TROYIEG, HETEBERAE ETOSEBELTRTLOTHD.

HEmbk ZIANEEREA— —EBTFERR
BREIEB AREEfth Eth AREEfth
IHH REBE (BREH REH REH REH
ERFEASEEA K P £330 111 7 61
By R— &R 16 6 2
ILAR—EEID)—> &R 12 18 0
WRESERZTOM —st _ -




